HE

LMG...H / LHESER R

g

MOTION TECHNOLOGY

c e3
G L
el L1
N[ == 2
DGt e ®
] ——
Il e
w2 | Wi diL E
B{I D mm
HERN BERRS BERA EXREEHF BEEANE Eds
e | 1o . - * - : Mp (KN- My (KN-
mer | B | EE | B R o | B SIS | U | RESRITL| B || () L VI
C o | BfE |MEELE BE |MEBLRE
M| W | L [B|C| sx/| L1 |T|K|N|el|e2|e3]| G W1 |[w2| M1 | F | Dxhxd ; asE KN-m| Kg | Kg/m
& KN KN | B |BWEE| B |BRES

LMG15H | 28 | 34 | 582 [26]26] M4x7 | 3056 [235] 9 [ 33| 8 [106] 7 [maxo7| 15 [a5| 13 [ 60 [75x53x45"] 118 [189 [013 [ 076 [ 013 [ 076 [0.15 [ 019 [ 129
LMG20 H 30 44 75 |32|36| M5x8 | 52.5 | 6 [25.4|8.5( 4.5 7 12.8| 12 |M6x0.75| 20 12 15 60 | 9.5x8.5x6 20 32 0.30 1.68 0.30 1.68 0.33 | 0.33 1.92
LMG20 LH| 30 44 88.8 [32|50| M5x8 | 66.3 [ 6 | 25485 | 4.5 7 12.7 | 12 |M6x0.75| 20 12 15 60 | 9.5x8.5x6 23.2 39.3 | 0.44 2.36 0.44 2.36 0.41 0.41 1.92
LMG25 H 40 48 83.6 [35|35|M6x12| 58.6 | 8 |33.5( 14 5 |183.5([16.8| 12 |[M6x0.75| 23 [12.5 18 60 11x9x7 27.9 425 | 0.44 2.47 0.44 2.47 0.51 | 0.55 2.67
LMG25 LH| 40 48 | 102.6 |35|50| M6x12 | 77.6 | 8 | 33.5| 14 5 |183.5(18.8| 12 |[M6x0.75( 23 [125]| 18 60 11x9x7 34.2 56.6 | 0.76 3.99 0.76 3.99 0.67 | 0.72 2.67
LMG30 H 45 60 98 40|40 M8x12 | 69.8 [ 8 [36.5] 11 5 11 20 12 [M6x075| 28 16 23 80 14x12x9% | 38.8 57.8 | 0.70 3.88 0.70 3.88 0.83 | 0.87 4.48
LMG30LH| 45 60 | 120.2 [40|60| M8x12 92 8 136.5( 11 5 11 |21.1| 12 [M6x0.75| 28 16 23 80 14x12x9% [ 47.5 771 1.21 6.28 1.21 6.28 1.11 1.13 4.48
LMG35H 55 70 [ 111.2 (50|50 M8x14 | 80.2 |11]|455( 15| 7.5 15 |21.6| 12 [M6x0.75| 34 18 26 80 14 x12x9 51.7 75.5 1.04 5.72 1.04 5.72 1.31 1.44 6.24
LMG35LH| 55 70 [136.6 (50|72 M8x14 [105.6|11|45.5| 16| 7.6 [ 156 |23.3| 12 [M6x0.75| 34 18 26 80 14 x12x9 63.2 100.7 | 1.81 9.29 1.81 ©.29 1.75 | 1.88 6.24
LMG45 H 70 86 |[137.8 |60|60|M10x20|102.2 |16]| 59 [ 20 [ 85 [ 20 |27.6|13.5| PT 1/8 45 1205 32 105 | 20x17x14 | 83.2 |118.0 | 2.03 10.89 2.03 10.89 |2.71 | 285 [10.25
LMG45LH| 70 86 [ 169.5160|80|M10x20|133.9 16| 59 [ 20 | 85 [ 20 |33.5|13.5| PT 1/8 45 1205 32 105 | 20x17x14 | 101.7 |157.3 | 3.54 17.76 3.54 17.76 |13.62 | 3.70 (10.25

1. LMG15 JBVSENIZETETL (7.5:5.3-4.5) R M4 121,
2. LMG30 BURERemeEL (14.12.9) £/ M8 i, BEERA LMG30R,; HHEMA M6 ek, JIBARTA 1197,

BEEEES LMG15R; BHHRER M3 82k, JIBELRTA 64535,

SBBMBSRIRTR A LMG15U,

TBEESRIERA LMG30U,




